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Solvmg the Scenarios
We Struggle to Measure
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0 So, abou
aglle metrics
| asked from
vou. . .C¢(




olt I s wrong
| f you canot

~S

you canot m:
--a costly n

W. Edwards Demingl,he New Econom(és35)



A

Systems
Focused

Likely

need just
one

Longterm

framewor k f or OPr os

To Test:

Improvement Metrics

. . When no
_ longer
Success Metric useful?

What
decision?

OMeasur e



Scenario One

oHow can we shoyv
more product |



Productivity 1 s a

V4

e and quantitative

Yet, maddingly invisible and
(perceivably) inefficient.

(for knowledge work, like software development)




\(/)VOTko make knowledge
o rk productive will be
e great management

task of this century .0

1o Get Better Performance and Results
from Knowledge Workers




Any measure we use In
the name of productivity
must be a proxy to what

really matters:
* effectiveness.

*as It relates to process, not product.

\ Period.



Measuring Successful Effectiveness

LEAD
TIME




Measuring Improved Effectiveness

~
Cycle
TI 11 e Where Is the delay?

What does our delay cost?
) Are we focusing on the delay?

What conditions?

When the constraint changes. Lead Time = cyclie tin




Measuring Improved Effectiveness

N
Time to What decisions?
- - Are we going too fast?
FIX BUlld |s this sustainable?
) What ] S oUur on

What conditions?

Unt 1 | | t0s no | onger usef ul




Measuring Improved Effectiveness

L R
Done -
—_ What decisions?
FO FECaSt Are we predictable?
Forecast Delta How much disruption occurs?
Py Are we too optimistic?

What conditions?

Unt 1 | | t0s no | onger usef ul




Forecast Delta



